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Çözümler
 Kavrama ~ 10
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3. 4y = a  22y = a 

 125y = b  53y = b 

 2000y = (2.103)y 

   = (2.23.53)y 

   = 24y.53y  

   = (22y)2.53y 

   = a2.b bulunur. 
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 3x= 34 

 x = 4 bulunur. 

  

 

 

 

 

 

 

 

 

 

 

5. b 1
2 =

a
   b2 = a  

 32b–1 = (25)b–1 

   = 25b.2–5 

   = (2b)5.2–5 

   = a5.2–5 

   =
5a

32
 bulunur. 

  

 

 

 

 

 

 

 

 

 

 

 

6. 22x+y = 4 

 82x+2y = 16  26x+6y = 42  

 
2x y 1

6x 6y 2





 

 4x + 2y = 6x + 6y  –4y=2x  x = –2y olur. 
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7. 
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 7y.5y.y = 7y.xy.y   

 5y = xy  x = 5  bulunur. 
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 bulunur. 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9. (3x – 1)4 = (2x + 1)4  

 3x – 1= 2x +1  x = 2 

 –3x + 1= 2x +1  x = 0 

 x değerler çarpımı 0.2 = 0 bulunur.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10. b a b a a b(x ) .(x )   = abx .
2bx .

2ax . abx  

   =
2 2a bx  bulunur. 

  

 

 

 

 

 

 

 

 

 

 

 


